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SLO Review:  Vectors/Inverse Trig/LOS-LOC/Solving Trig Equations


Vectors:
1. Find the 
[image: image1.wmf]v

v

 with initial point (-3, 1) and terminal point (4, 5)
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2. Find 
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a. 
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3. If 
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c.  
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4. Which pairs of vectors are orthogonal
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Inverse trig functions:

1.  Given 
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2. Evaluate 
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a. 
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b.  
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c.  
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3. Identify the inverse of 
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a.  y = sin x

b.  x = sin y

c.  y = csc x

d.  x = csc y

4. Evaluate 
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a. 
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b.  
[image: image37.wmf]3

p




c.  
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d.  
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LOS-LOC/Solving Trig Equations

1. Given 
[image: image40.wmf] with a=9, A=48, and C=56.  Find c.
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2. You want to find the length of a bridge in the diagram shown.  From point A, you measure the distance to the bridge on either side and the angle formed.  How wide is the bridge?
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3. Solve 
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  in the interval 
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  (Hint:  need all answers on unit circle here)
4. How many solutions does 
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